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XH24 T F REARBIREZD—EREIZKYSNEANZEH-AO
[R5.9.30IR7E JATEET £ (K=F) AlE A AOD (B)

TRET(KF)a—FK {TEET (KEFE)R 405 413 42k 43 445 45m 46k 47 48  49%

9220 $RHTHEH 4 1 7 4 3 5 8 11 7
9230 SxET &M 10 7 5 16 12 4 4 5 8
9240 $RHTIEE 3 3 1 4 3 6 1 3 3
9250 $EETILHrith 8 14 7 4 7 11 4 4 4
9999 fERIX &t 86 76 76 78 86 80 73 80 83 8
9310 R[FHET:AR 0 0 0 1 3 0 3 2 4
9320 FFHATIL 2 2 2 3 3 3 0 2 3
9330 H[SHET/INE 0 2 2 2 0 1 0 0 3
9340 R [ZHTRY 2 5 1 7 4 4 2 3 3
9999 HEHX &t 4 9 5 13 10 8 5 7 13
9410 RET T & 3 5 2 1 3 4 5 5 8
9420 RHETHE 2 1 1 3 1 0 1 3 1
9430 RHETERK 0 2 0 0 0 0 1 1 1
9440 RETAEF 0 0 0 0 0 0 0 0 0
9450 RETHEIR 0 0 0 0 0 0 0 1 0
9460 RET{—_HE 0 0 1 0 0 1 0 0 0
9470 RETER 0 0 0 0 0 0 0 0 0
9480 RHETHER 1 0 0 1 0 0 0 1 0
9999 RiXXEt 6 8 4 5 4 5 7 11 10
99999 H&Et 639 693 704 633 671 731 695 753 751 81
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50 KET—T B
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70 RET=TH

80 AT IR AT

90 FEHATIRAT

100 b ALET

110 #A;THT 1
120 #A;TAHET

130 t&FHT

140 HEAE BT

150 1 FFrHET
9999 KB XEt 5
510 AETHT B
520 4L EEMT
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540 15 EHT
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590 FriEMT
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610 FHT
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1010 S HET
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1040 78 /T HT
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1070 7R ET
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1100 EBiEHT
1110 fRIEMT
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1130 +5&HT
1140 FkJRET
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1170 ;5 /KHET
1180 & ALET
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1240 ZEHT
1250 fEERT
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THRET(KF)a—FK {TEET (K=FE)® 508 51/ 52&% 53/ 54k 55m 56k 57@ 58% 59

1260 fEH & 0 1 1 0 1 0 1 0 0 0
1270 EEHT 2 1 2 2 0 3 2 1 1 2
1280 ARAHET 3 6 2 0 4 1 1 0 1 3
1290 £RHT 1 3 1 3 3 1 1 6 1 2
1300 % ZEHT 1 0 2 3 1 0 1 0 3 3
1310 RJLHT 2 1 0 2 0 1 1 0 1 1
9999 XHEMX &t 89 106 98 90 85 82 95 68 92 101
1510 #EHN BT 17 11 5 9 13 5 8 6 16 7
1520 }EHD T ET 5 8 9 6 8 13 6 7 6 6
1530 HEHNSTHT 7 5 5 0 3 1 3 3 6 7
1540 K123FHT 7 6 4 4 11 2 8 4 4 7
9999 HEMNI X ET 36 30 23 19 35 21 25 20 32 27
2010 = S5 HET 3 2 2 4 2 2 4 3 1 2
2020 % &7 5 3 5 2 5 3 2 5 1 1
2030 ET 1 0 0 0 0 0 0 0 0 0
2040 JET—TH 4 3 2 6 4 1 3 4 7 2
2050 ;MET=T H 3 0 2 5 2 2 6 0 4 1
2060 ¥5 i HET 1 0 0 0 0 0 0 0 1 0
2070 FxET—TH 2 5 6 2 1 3 2 4 3 3
2080 +RETZ_TH 3 6 2 2 4 2 5 2 1 5
2090 AT 18 19 20 23 17 15 21 13 23 15
2100 HibHET 3 2 3 3 3 4 0 2 6 3
2110 HEMNETET—T B 3 3 3 2 5 6 4 3 5 6
2120 HEWIETET—T B 3 3 5 5 1 5 2 2 4 4
9999 E B XET 49 46 50 54 44 43 49 38 56 42
2510 $AUEHET 30 27 30 31 27 25 26 18 26 19
2520 SKEEHT 17 19 20 20 23 27 17 16 21 19
2530 = /INERET 8 8 9 4 7 6 10 8 6 3
2540 FHi5HT 4 6 7 4 10 5 2 3 5 7
2550 ;HET 1 4 3 1 2 3 2 7 3 2
2560 = ST 10 11 15 8 13 12 6 13 12 9
2570 K EHT 1 0 0 2 0 0 2 0 0 3
9999 MNEXET 71 75 84 70 82 78 65 65 73 62
3010 KATHT 12 11 12 12 10 15 12 16 11 10
3020 ;@I HT 19 15 20 10 7 16 17 8 12 12
3030 L EFET 10 16 12 12 13 13 13 9 11 13
3040 B _EAT 4 1 3 3 5 3 6 0 2 4
3050 wy BRI A AT 31 29 29 24 28 31 29 26 27 16
3060 A ESTET 6 5 3 7 7 3 7 6 13 6
3070 tHBREHT 6 2 7 6 8 6 6 5 5 3
3080 H AT 6 5 5 3 8 4 5 3 3 3
3090 FH R ERAT 4 4 2 8 2 5 7 2 5 3
3100 H A FEHET 6 11 10 4 4 7 5 7 2 9
3110 HepiLET 9 1 5 6 3 7 4 4 6 5
9999 J\ T X &t 113 100 108 95 95 110 111 86 97 84
3510 £ R _EHT 2 2 0 0 1 1 4 2 3 6
3520 2R T 6 3 6 5 8 5 2 2 3 3
3530 E[RTHT 10 24 17 12 12 11 11 8 11 6
3540 Z= B KHT 8 10 3 2 2 5 8 1 6 8
3550 AEFHT 17 6 6 8 5 15 1 16 7 12
3560 &= T ERAT 3 4 4 4 1 0 4 4 2 1
3570 & T Ao 6 9 9 14 3 9 14 7 6 3
3580 FLIFTHT 7 8 9 4 10 5 8 10 8 7
3590 ;EMT 0 0 1 0 0 0 0 0 1 0
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8045 IR AHTALIR (X
8050 IR AHT A
8060 IR AHTFT
8070 RAHETER
8080 I AHT ki
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8100 Y AHETH /IR
8110 3RAHTJI| 5k
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9040 F THTHERH 19 24 11 21 17 15 26 18 13 24
9999 FTHXET 51 53 34 52 47 36 51 42 38 54
9110 SRET T Hik 5 6 10 5 10 6 7 5 6 8
9120 SFEETH L 1 3 2 3 0 4 3 3 6 4
9130 $RETH B 1 0 2 3 3 1 3 3 1 1
9140 SRET T+t 6 2 8 2 4 4 5 5 5 4
9150 $RHET Li% 5 9 4 5 5 8 7 6 2 6
9160 SRHETER4T 16 6 6 9 9 8 12 11 11 13
9170 $ERTAH 14 12 10 11 1 12 8 11 16 13
9180 SRETER 2 5 7 5 7 2 13 6 5 8
9190 #ERTZ O 5 0 3 3 2 1 3 4 2 2
9200 $EHTEFIF 1 1 3 2 1 2 1 4 4 2
9210 $EET=H 4 5 4 7 6 5 9 4 1 6
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THRET(KF)a—FK {TEET (K=FE)® 508 51/ 52&% 53/ 54k 55m 56k 57@ 58% 59

—_
— O~ 0O 0O OO = MNNNdAdADPDWWPLPLOW-—=DI

9220 $RHTHEH 7 10 4 8 5 8 6 7 5

9230 SxET &M 8 10 6 8 6 6 12 6 9 1

9240 $RHETIER 1 2 0 5 4 3 6 1 5

9250 3 ET At #rith 7 3 7 9 1 4 6 4 7

9999 fERIX &t 83 74 76 85 74 74 101 80 85 9

9310 R[FHET:AR 1 3 0 2 0 1 3 3 2

9320 FFHATIL 2 2 1 6 3 1 4 3 4

9330 H[SHET/INE 0 2 0 2 1 5 0 2 2

9340 R [ZHTRY 2 1 4 3 3 6 5 3 10

9999 H[G#XEt 5 8 5 13 7 13 12 11 18

9410 RET T & 3 4 1 3 5 4 4 6 7

9420 RHETHE 3 1 2 5 3 2 3 3 3

9430 RHETERK 1 1 1 2 1 5 4 2 2

9440 RETAEF 0 0 0 0 0 0 0 0 0

9450 RETHEIR 0 0 0 0 0 0 0 0 0

9460 RET{—_HE 0 1 0 0 0 0 0 2 0

9470 RETER 0 0 0 0 0 0 0 0 0

9480 RHETHER 1 3 0 1 1 1 0 1 1

9999 RiXXEt 8 10 4 11 10 12 11 14 13
99999 H&Et 771 781 729 747 716 746 784 639 772 75
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THET(KF)a—K {TEET (K=FE)® 603 6173 623 63/ 645 65/ 66F 67/ 68F 69
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9230 SxET &M 9 10 8 9 14 11 7 9 10 8
9240 SEETIE K 8 7 5 3 6 6 4 6 3 5
9250 $EETILHrith 10 6 8 4 5 11 10 8 9 4
9999 fERIX &t 91 87 103 96 103 99 92 97 106 98
9310 R[FHET:AR 6 6 5 4 2 4 3 4 5 8
9320 E[5HETIL 3 4 5 6 4 7 2 7 5 3
9330 H[SHET/INE 0 2 3 4 4 3 4 3 6 4
9340 R [ZHTRY 5 7 4 6 6 5 7 10 9 7
9999 H[G#XEt 14 19 17 20 16 19 16 24 25 22
9410 RET T & 7 7 4 6 5 10 7 4 4 8
9420 RHETHE 2 5 6 2 2 3 4 2 5 5
9430 RHETERK 1 4 1 5 0 2 4 3 2 4
9440 RETAEF 2 0 0 0 0 0 2 1 1 0
9450 RETHEIR 0 1 0 0 0 0 0 2 0 0
9460 RET{—_HE 0 1 0 2 0 2 1 1 1 0
9470 RETER 1 0 0 0 0 0 0 0 1 1
9480 RHETHER 3 1 0 0 2 0 0 1 0 3
9999 RKXEt 16 19 11 15 9 17 18 14 14 21
99999 H&Et 741 796 771 822 838 842 841 859 933 889
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TRET(KF)a—K {TEET(KFE)L 705 71% 72 73 74% 75 716k 71 718 79

1260 JEHR & 0 1 0 1 1 0 0 1 1 0
1270 EEHT 2 3 1 1 2 1 1 1 5 1
1280 ARAHET 1 2 5 2 3 2 3 1 0 2
1290 £RHT 2 3 0 0 1 6 4 1 2 0
1300 4 ZEHT 2 1 3 1 1 3 0 3 0 2
1310 RJLHT 0 1 1 0 0 1 1 1 2 0
9999 XHEMX &t 93 80 94 108 130 95 100 44 67 77
1510 #EHN BT 10 5 12 10 1 11 7 4 4 9
1520 }EHD T ET 9 10 11 13 11 15 12 8 3 5
1530 HEHNSTHT 1 5 3 3 6 3 9 4 3 11
1540 K1ZFHT 10 6 5 4 10 7 11 3 6 3
9999 HEMNI X ET 30 26 31 30 38 36 39 19 16 28
2010 £ E AT 3 1 0 2 4 2 8 2 3 1
2020 % &7 1 4 5 1 0 4 1 1 0 1
2030 ET 0 0 1 0 4 1 1 0 0 0
2040 JET—TH 0 1 7 4 2 4 4 1 3 3
2050 ;MET=T H 1 4 2 5 2 3 7 2 3 2
2060 ¥5 i HET 1 1 1 2 1 1 2 1 1 0
2070 FxET—TH 2 3 2 4 5 3 5 4 0 3
2080 +RETZ_TH 3 3 2 4 2 1 3 3 0 4
2090 wy g ET 29 26 28 26 25 29 28 15 13 22
2100 HibHET 3 6 1 6 4 1 4 1 1 1
2110 HEMNETET—T B 6 6 5 4 1 4 7 3 1 1
2120 HEWNEETZTH 7 4 6 3 3 4 4 1 1 2
9999 E B XET 56 59 60 61 53 57 74 34 26 40
2510 $AUEHET 22 27 30 23 32 33 22 11 14 17
2520 SKEEHT 10 17 19 16 22 21 13 7 10 10
2530 = /INERET 5 11 6 4 4 7 1 2 1 2
2540 FHi5HT 1 8 6 7 11 6 16 3 2 7
2550 ;HET 2 7 6 0 3 3 3 2 2 2
2560 = ST 10 17 10 16 22 16 17 7 7 12
2570 K EHT 1 1 1 4 2 2 3 0 1 0
9999 MNEXET 61 88 78 70 96 88 75 32 37 50
3010 KATHT 8 21 13 14 12 12 17 11 13 17
3020 ;@I HT 12 12 17 9 21 14 13 10 7 10
3030 L EFET 10 10 6 8 11 7 10 4 7 5
3040 THEJ _EHT 4 5 0 1 3 1 1 1 1 3
3050 wy BRI A AT 24 21 23 34 36 26 31 6 13 19
3060 HEATHT 11 6 6 10 2 8 11 4 6 8
3070 tHBREHT 6 11 12 8 8 5 3 4 2 4
3080 H AT 5 2 2 11 6 4 2 4 2 4
3090 FH R ERAT 2 7 7 3 6 1 2 2 4 3
3100 HHFHHET 9 5 8 4 10 4 6 4 4 1
3110 HepiLET 3 8 6 7 1 12 9 0 5 5
9999 J\ T X &t 94 108 100 109 126 94 105 50 64 79
3510 £ R _EHT 7 0 6 5 2 6 3 0 0 2
3520 &R o 3 4 5 8 11 11 6 4 3 5
3530 2R THT 10 20 17 13 15 14 8 10 6 9
3540 Z= B KHT 6 4 4 10 7 8 6 6 4 1
3550 AEFHT 17 10 13 13 16 17 9 8 8 10
3560 &= T ERAT 8 3 6 2 4 6 3 2 2 2
3570 = T AT 11 17 14 12 15 18 15 8 8 11
3580 FLIFTHT 7 4 5 7 12 11 12 4 4 7
3590 ;EMT 0 0 1 0 0 1 1 0 0 0
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9999 F T XEt 48 55 50 48 60 58 47 2 37 38
9110 SRET T Hik 3 8 11 8 11 9 4 10 7
9120 $ERTH L 3 3 1 11 2 6 3 1 5
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9150 $EMET L £& 8 8 7 7 8 7 7 2 4
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TRET(KF)a—K {TEET(KFE)L 705 71% 72 73 74% 75 716k 71 718 79

9220 $RETHH 4 9 15 7 13 5 7 2 5 7
9230 SxET &M 12 14 8 20 13 8 9 6 6 8
9240 SEETIE K 4 3 1 3 4 3 2 0 4 0
9250 $EETILHrith 15 9 2 6 4 9 9 4 4 4
9999 fERIX &t 90 125 96 124 109 120 87 54 71 78
9310 R[FHET:AR 4 2 3 2 8 4 5 1 4 2
9320 FFHATIL 5 5 2 8 6 4 5 4 4 6
9330 H[SHET/INE 3 7 7 3 2 1 0 3 1 2
9340 R [ZHTRY 9 6 6 10 8 2 3 5 7 2
9999 H[G#XEt 21 20 18 23 24 11 13 13 16 12
9410 RET T & 7 5 4 13 8 7 7 2 2 7
9420 RHETHE 8 6 2 8 6 5 3 3 3 4
9430 RHETERK 2 3 2 4 4 1 8 3 0 5
9440 RETAEF 0 0 0 0 1 0 0 0 1 0
9450 RETHEIR 1 2 0 1 1 0 0 0 0 0
9460 RET{—_HE 2 1 1 0 2 0 0 1 0 0
9470 RETER 0 0 0 0 1 0 0 1 0 0
9480 RHETHER 1 0 0 1 1 2 2 2 0 0
9999 RKXEt 21 17 9 27 24 15 20 12 6 16
99999 H&Et 885 999 888 987 1096 932 910 465 548 673
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